AACAIYH 8 gy g & (711) 22 L FHagl =2 : (201) YLt o me
pJ | = 3l
Ao & = J| =
=2 of & oM | = Z oM
A 30,992,828 ,648,909 343,919
2 18,625,394 062,159 | A 1,436,765
18,620,244 061,463 | A 1,441,219
L F 24 5,931,685 154,130 | A222,445
200
A A 5,931,685 154,130 | A222,445
201
o2 gy 318,677 325,022 AB,345
108,800 115,145 AB,345 AP 22|
SEFHLN SHA B9 242
<ZE>13,220% x B0E x 128-<J| &>13,220@ x 120 x 12 A6,345
206
24 5,180,001 /396,101  A216,100
87,390 104,281 A 16,891 oF Z |
ARASR
<ZF>68,000m x0.00135kg x 3652 x 6002 -<J| H>80,000
m x 0.00135kg x 3652 x 600 = A3,547
S &
<A F>68,000m x 0.006kg x 3652 x 3802 -<J| H>80,000m
x 0.006kg x 3652 x 3802 = 29,986
JIEF HIAQFE (2|, AN G BAE)
<A X>68,000m x 0.0015kg x 3652 x 800 /12-<J| &>
80,000m x 0.003kg x 3652 x 800& x 1/12 = A3,358




2 (711)

& g ce MR
I =2 7| H| = gl
of & oA Ak = J| =
2|8 M = of & M| = H o
4,921,951 110,000 A 188,049 |03 =iy
O =245 A7
<A A™>4,921,950,4102 -<J| ®>5,110,000,0002 = A 188,049
90, 480 101,640 A11,160 |05 S|
O ST s
<ZE>6,750,0002 x 122 -<J| &>7,500,0002 x 122 = A9,000
O g2l sy
<BE>720,0002 x 122 -<J| H>900,0002 x 128 = A2,160
712
eS BN 4,063,192 ,380,000| ~A316,808
200
2 A 4,063,192 ,380,000| ~A316,808
206
T 2 b 4,063,192 .380,000| A316,808
4,063,192 ,380,000| A316,808 |04 HAPeiy]
O B=Ed HpoH|
<A XN>4,063, 191,720 -<J| ®>4,380,000,0002 =  A316,808
713
i - 224 2,028,615 ,249,886| A221,271
200
2 A 2,022,515 .230,886| 208,371
201
Bty 207,243 275,567 A 48,324
101,210 116,910 A15,700 (01 Al 22l
O 252 2 L H4, U228 282 JE2(MD) A 13,300
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[ 46t F D |
2 1 (700) AT AEHE st (710) FHI= Mg : (713) Hf - S=2=H] 2 : (206) M2 H| (ool : m
I =2 7| H| = gl
of & oA At = J| =
28 Mg 2 Of & o o= ¥ o
soA XASNSN=_TNT ASNS2NN NNNKL v 19700 A — A2 RNN
O AILH 2 HHSXI(IIH) HE 2L (A
<A AH>0-<I| A>300,000 x 12 A = 23,600
O S£9%X AHEHE(D=50~1100mm)
<Z&>5,353,0002 x 1Al-<J| & >15,000,000& x 14l = A9,647
O b2 22K 22 (D=400~1100m) (R 2 2 = 32)
<A A>23,948,0002 x 1A1-<J| A >25,000,0008 x 1Al = A 1,052
80,760 116,214 N35,454 |05 S H]
O Al 2, Hi==Xl & 0IZ2a+E 2| N 35,454
- SYURE
<ZA>2,000,0002 x 122 -<J| &H>2,500,0008 x 128 = 26,000
- EDUE
<A A>1,357,5002 x 122 -<J| &>2,300,0008 x 128 = A 11,310
- AR
<ZA>313,0002 x 128 -<J| H>800,000& x 128 = A5,844
- LR
<FE>120,0002 x 128 -<J| &>150,0002 x 128 = A 360
- 28 22 Mo 260, S AHH X
<ZA>50,0002 x 12-<J| F>20,0009 x 54 A x 128 = AB00
- 22,22 WYX
<B E>470,0009 x 128 -<J| &>200,0002 x 3 A x 128 = A 1,560
- 85,92 24
<P E>1,785,0002 x 12&-<J| H>650,0008 x 44 A x 12& 9,780




[ 45t 8F D |
20 (700) AT AIREHIS g 1 (710) gEHIE Mg : (713) B - S £ (207) =& WY CLREL
o = ol & A ’! s = @ A £ J| =
2|8 |ME = of A o4 | x F o
207
28 WA I 1,531,639 1,631,485 A 99,846
1,058,454 1,158,300 A99,846 |05 JIEt HIHI
O AU 2 Bi&X ®IAES 22
<ZH F>541,0002 x 128 -<J|&F>2,000,0009 x 1204 & = A 17,508
O AW 814X JIHAES 22
<ZFF>1,750,0009 x 128 -<J| F>2,000,000% x 12I4 & = A3,000
O AW 2 HHEX KSHOAIAR 2
<ZE>1,083,0008 x 128 -<J| &>2,000,000% x 1294 & = A11,004
O AW HAAtHHX =STF £2AH & X
<2 X>8,950,000% x 104 A& -<J1 H>10,000,0009 x 144 = A1,050
O AU Sollti=X o2 & ¢S WH(D=100mm, &S 30H)
< X>8,949,000% x 100 A-<J| &>10,000,0002 x 14 A = A1,051
O AU HiZ=Xl HEA(129H2)
<P EF>21,650,0008 x 23| -<J| &H>30,000,0008 x 23| = A 16,700
O TAXNY OtSas: S22 L 24
<ZF>5,000,0009 x 494 A-<J|&>10,000,0008 x4HA = A20,000
O TAXY Ot2a4+E HaHH 60t DA
<A E>522,0002 x 17IH-<I| &=>1,500,0002 x 1794 = A 16,626
O TAXY ARL2 SHAE B(HY)
<FE>0-<J| F>5,000,0008 x 204 A& = A10,000
O SLH=X AES 24 SAF (H2F 10m, S0l 80m)
<A X>187,7002 x 90m-<J| & >220,0002 x 90m = A2,907




>.
oy

2= g (710) 2gHIE Mg o (713) B - S==tl £ @ (303) Z&

AT A = (&9 - )
= J| 3 =2 3l
o & o At = J| =
= = Gl &b oM = &3 o
300
A0 A 6,100 19,000 A 12,900
303
Ea= 100 3,000 A 2,900
100 3,000 A2,900 (01 ZE&Z
O £528 BEH3LC (D228 TM2
<A AE>100,000& -<J1&>1,000,000& x3¥ = A 2,900
305
LS 0 10,000 A 10,000
0 10,000 A10,000 |01 HHMZ2S
O S22 s Ilof 24
<HE>03-<J|&>5,000,000& x2AH = A 10,000
5k 2t 2| H 3,834,469| 4,510,702 A676,233
100
ol 2 AH| 3,138,917 3,288,963 A 150,046
101
ol d| 2,959,377 3,104,883 A 145,506
2,518,190 2,596,801 AT78,611 |01 E=
O Alz2te2222x4 A 28,909
- MBSt dAH
<AE>T,648& x 14 x 40A| 2t x 128 <J| &>7,648& x 15
H x 45A12t x 128 = AN 10,554
- =50
<A E>7,648& x 40 x 40A| 2t x 128 -<J| &>7,648& x 40
& x 45A12t x 128 = A 18,355
O sd A984




[ Aol F 0 ]
2 0 (700) AT AIEHIE2 s @ (710) ggHl= Mgt (714) Lerate|d] 2 : (101) o AH| CCRE.L
ot =2 pJ H| = gl
oAb A = I =
=2 | & HE = ol &F oA = 3 o
- X
<A E>40,000& x55% x0.90x 128 -<J| &>40,000& x 56
Hx0.90x 128 = N432
<ZE>20,000& x 5598 x0.60x 12& -<J[&>20,000& x 56
Hx0.60x 128 = N 144
- Hl=
<A AE>20,000& x55% x 1.70x 128 —<J| &>20,000& x 56
Hx1.70x12&8 = A 408
O MEStHEXZ4E NT,873
- EsHM
<HAZAE>21,150&3 x55H x0.20%x 43| —<J| &>62,400& x 56Y
x0.20x 43| = A 1,865
- 1S
<A A>345,6009 x 553 x 0.25% 45| —<J| & >446,7002 x 56
H x0.25%x43| = A6,008
O WEEXH(82 ~ 103)
<dE>120,000& x 26Y x 128 -<J[&>120,000& x 279 x
128 = A 1,440
O HIt8 Atd|
<HAE>1,418,570,000& x 1/12x 1/30x 10L -<J| &>
1,418,570,000& x 1/12x 1/30x 20& = N 39,405
103,779 106,325 A2,546 |02 DJIEFRIE
O HAZE AAQ 224 (UA2DH2 )
<G E>6,863& x2H x 40Al2F x 128 —<J| &>6,863& x 2Z
x 45A1 2 x 128 = NB24
O AESHIBEX4E AN423




[ Aot A ]
2 (700) AT AEHIE at (710) 2 E Mgt o (714) LBt2eldl 2 : (101) oA H ool M)
ot = pli P = 3
o & o At = | =
=2 |8 |H & = Gl &b oM = 3 9
- S5t
<KHES21,1503 x2H x 0.3 %43 —<J|&E>62,400& x 2&H x
.3x 43| = A 99
- NS5eM
<HZAE>345,600% x2Y x0.4x43|—<J|E>446,700& x 2Y
><O.4><4_<:z| = N 324
O HIIE AH|
< AE>46,755,000& x 1/12x 1/30x 102 -<I| &>
46,755,000& x / 2x1/30x20¢ = A 1,299
189,065 224,114 AN35,049 |03 RIHEZZAE £
O F=2=2X 2 =THEI AIgee ¢ N4 ,505
- A2t &
<HAE>10,725% x 1Y x 10A1 2t x 128 —<J| &>10,725& x 3
H x 15AI2t x 128 = A4 505
O £=SAHEI HaE AEE S = (5H) A5,800
- A2t &
<HAE>7,4363 x 1Y x 10AI 2 x 128 <J| &>7, 436% x 54
x 15Al 2t x 128 = 25,800
O SLIFKIEF>0R-<IIE>72,6403 x 1Y x2L x 12& = N1,744
O RIJAHxZ =2 EASB
<E E>023-<J|&8>20,000,000& x 1H = A 20,000
O 24Xz <E E>03-<J|&>3,000,000& x1¥ = A 3,000
148,343 177,643 A29,300 |04 DJIZtHZ22XSE S
- A2t &
<HAE>0R-<I|IE>10,725& x 1H x 15AI2t x 128 = A 1,931




[ 4ot E D ]
2 (700) ASSAIRHI2 & @ (710) ¥YHIE MIEt o (714) LBrze)y] 2 @ (101) oAy el M
I =2 7| H| = gl
of & oA Ak = J| =
2|8 M = of & M| = H o

-

- Zd s & a2 MaryE

(]

<HAE>39,6603 x 18 x 2542 -<J[&H>39,6603 x 2% x 254

X
ol
=

A T
— o

<H E>39,660& x 18 x 522 -<J| 8>39,660& x 2& x 53&

<HE>4,000% x 2% x 2542 -<J| F>4,000& x 3H x 254

<HAE>57,200% x 4H x 190 -<J| & >57,200& x 5% x 190
ol =

=
Al AL = x
O SEY4+T U MN2VX FUSF HEXY
- o

<HE>45,5503 x 4H x5 x 33| <J| F>45,5503 x5& x 6
& x 33 =

<d8>4,0008 x 48 x 54 x32/-<J[&H>4,000% x5& x6&

x 33| =
O SEEHSE L ML FLsE &2 MFHY
- oy

<HAE>A5 5503 x 38 x 22 x 25| <J| &>45 5503 x 3¥H x 3
& x23 =

<ZEE>4,000% x3H x 2 x 25| <J| E>4,000% x 3 x 3
x 23| =

210,074

A2,141

21,016
210,868

210,868

A 1,487

21,367

2120
N 297

A273

N24
A 1,486




[ #YL ]
3 ST ALHIS L (714) Ler S 1 (101) o2l chol : mel)
= 3
Py = J| =
2t < =3 o
- o
<BE>45,550% x 3H x 2 x 43| -<J| HE>45 550& x 3H x 3
2 x63| = A1,366
2|
<HT>4,0008 x 3B x 22 x 43|-<J| H>4,000& x 3F x 3L
X638 = A120
102
A28 AY| A 4,540
100 MY 2L A|
O 52 (&) < A>2,500,000-<7| &>2,400,000 = 100
93,400 93,240 160 (02 =ZE=xHI
O 82~923 <A &>93,400,000-<J| &>93, 240,000 = 160
79,440 84,240 A4,800 (03 SHAYRLHFU
O SILBANSRA(LeHA)
<Z H>80,000% x 54% x 12&-<J| &>80,000& x 56%%>< 12 A1,920
O e=2n3gd
< &>80,000 x 8% x 12&-<J| ¥>80,000& x 9% x 12& A960
O sFazuggy
<H&>80,000% x 9 x 128 -<J| H>80,000& x 10¥ x 12& 960
O Olah, 2o HSHA RS
<ZH>80,000% x 4% x 12&-<J| H>80,000& x 5% x 12& A960




o Hl 8 N : (714) 2erereit) S 1 (201) YEre) (o9 mg)
| 5| 2 3
& o & = | ES
o = o & | =3 o
20
XL 171,106 213,567 42,461
201
vt 123,215 161,142  A37,927
110,670 144,050 33,380 |01 AtR2elb|
O EX 2 282 WAML 2FIHIIL4E
<& &>30,500,000& -<J| &>450,000& x 6024 x 201 HQl = A 23,500
O +ESNEL(FH) 22448
<23>5,000,000% -<7| F>220, 0008 x 6021 = ~8,200
O X2l FUAH(HIE S)
<H >0 -<I| F>35,0009 x 8Hx 13 x 62 = A1,680
12,545 17,002 24,547 (02 BRI
O RER=S A 1,607
- LA F>2009 x 6004 x 128 -<J| H>2208 x 2000K x 128 = £.369
- 59
< E>1,7203 x 4004 x 128 -<J|1 &E>1,720& x 10004 x 122 A 1,238
O FA2H| A2,940
- RoFHISY
<ZE>100,0008 x 128 -<J| &>115,0008 x 128 = A180
- ®JI2 <ZH>300,0008 x 128-<J| H>500,0008! x 128 = A2,400
- == <&FE>70,000¥ x 128 -<J| &>100,000& x 12& = A 360




[ 4ot 8F D} |
BI(700) HASARHIE B (710) FAHIE Mg (714) Zeraely) 2 1 (202) o ael : mE)
o = J| 5| 2 3
o & o & = | =S
2 |3 Me = o & | =3 o
202
ol bl 29,991 34,505| 4,534
29,991 34,525|  A4,534 |01 B0y
O =L A0l A4,534
O M+SAHEH FYE4s|o &A
<Y E>261,0008 x 38 x 251-<)| H>261,000% x 4% x 48 42,610
O BBUS2E L UFS4E A0 OE SHXXA
<Y H>37,000% x 28 x 43] x 68 -<J| F>37,0008 x 28 x
sl x 108 = A1,924
300
2401 H 524,446|  1,008,172| 483,726
303
Z43 136,496 153,678 17,182
136,496 153,678| 17,182 |02 A D402
O gerx <2>136,496,0008-<J| H>153,678,000% =  A17,182
304
SELASEE 387,950 394,876 6,926
310,690 316,349 A5,659 |01 HaERE2
O oZRez S(Les @ 337)
<2H>310,690,0008 <7 H>316,349,0002 = A5,659
77,260 78,527  A1,267 |02 ROIAYSBH=LI
O ZoAYRERES(YPH U FY)
<AF>77,260,00021 <] H>78,527,0002 = A1,267




AT AIAH = gt (710) ¥HI Mgt @ (714) LBtaelt] 2 @ (308) NXHMSOIH CCRELS
=2 pll H| = 3l
of & oA At = | =
2 2 Of & o = H o
308
XSHHMSoIA 0 459,618 A 459,618
0 459,618| A459,618 |02 XXICGHH2tRY 2
O XNYEHLI 2 A2 (EXY £20/F0 XAAY)
<P E>0R-<J| ®>459,618,0002 = A 459,618
5
S =P =S I 315,267 385,629 AT0,362
200
2 A 79,347 122,229 N42,882
201
B2 Y| 49,272 69,468 A20,196
43,096 63,292 A20,196 |01 AtR 22l
O da2AIE 82X L dx21 2
<HE>0R-<I|A>30,000 x 48t A x 129 = A 1,440
O BLEM202D0 HE |2 ME
<ZA>350R x 70000 x 122 -<J| A>350R x 90004 x 12 = A 840
O 522 HLUITRHI A2E PA(EHATIES)
<ZA>1,200,0002 x 2&5-<J| &>1,200,0002 x 105 = 29,600
O AT R2 DM L IHSEHEHIA
<P A>55,0002 x 88t A x 128 -<J| A >55,000 x 158F A x
1298 = A4 ,620
O AL+ E22 MYgHFAR =T A
<HE>7,0009 x8H x 43| x 12&-<J| H>7,0008 x 9% x 6
3 x 128 = A 1,848
O ASILER2 WA AL =X ZAlYH|
<EE>7,0008 x8H x 45| x 12&-<J| &H>7,0002 x 9H x 6
3 x 128 = A 1,848
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LTARHI oyl 8 Mg : (716) 2+ At S @ (716-1) AT A (9] : M
T 8= = & & | S
z o & A | = o

483,900 418,000 65,900
437,300 328,000 109,300

137 300 128 000 109300 |O 8 FEESA(SHMLAL) 71,850

- 13mm  <Z &E>500,000& x 1408 -<J| &>500,000& x 80™ = 30,000

- 20mm  <Z &E>550,000& x 1008 —<J| &>550,000& x 508 = 27,500

- 2b5mm  <ZH&E>580,000& x 2208 -<J| & >580,000& x 60& = 92,800

- 40mm <& H>1,000,000& x 18 -<J| &>1,000,000& x 10& = 29,000

- 50mm <& &>1,050,000& x 1&-<J| &>1,050,000& x 10 = A9,450

- 80mm <& H>3,000,000& x 3&-<J| &>3,000,000& x 10M = A 21,000

- 100mm <& &>4,000,000& x 28 -<J| &>4,000,000& x5& = A 12,000

- 150mm <& &>5,000,000& x 2&8-<J| &>5,000,000& x 58 = A 15,000

- 200mm <& &>6,000,000& x 18 -<J| &>6,000,000& x 3™ = A 12,000

O dE £EHIBA NP (SHALAY) 37,450

- 13mm  <Z &E>200,000& x 1418 -<J| &>200,000& x 80™ = 12,200

- 20mm  <Z &E>300,000& x 1008 -<J| &>250,000& x 508 = 17,500

- 25mm  <ZH&E>350,000& x 1728 -<J| & >270,000& x 60& = 44,000

- 32n/m <& &>400,000& x 208 -<J| H>300,000& x 208 = 2,000

- 40mm <& &>600,000& x 1M -<J|&E>600,000& x 10& = 25,400




%‘t”% k”?:l- (716) S—’F— /\I’t” % (716_1) MQ—EAHIH E|.$| ;3%)
7| 5| = gl
oo & £ pJ =
2 ol & oH = 7
- 50mm <ZE>650,0008 x 1&8-<IJ|&>650,000& x 10& = A5,850
- 80mm <& &>1,000,0002 x 3™ -<J|&>1,000,000 x 10& = A7,000
- 150mm <& &>3,000,0002 x 1&-<J| &>3,000,000& x5& = A 12,000
- 200mm <& & >4,000,0002 x 1&-<J| &>4,000,000& x 3& = A 8,000
46,600 90,000 A43,400
4 5} al 2F N
16,600 90,000 A43. 400 O FZSM L A 0l ZA 240,000
- 13~200mm
<A A>2,000,0008 x 10&-<J| &>3,000,0008 x 20& = 240,000
O HNELETH ZAF AP Y A 3,400
- 13~200mm
<Z&>1,400,0002 x 198 -<J| & >1,500,0009 x 20& = 23,400
730
Egaal 5,150 696 4,454
732
I &AL A 5,150 696 4,454
732-1
FSPI SR IESP S PN, 4,454 0 4,454
UAMNLMAC 2 RNEELIHZA 22 &
4 454 0 4 454 Al LK 2 = 51 K| Ab XA (20074)
4,453,230 = 4,454




[ 4ot+C8EDY |
20 (100) MHERXE 8 1 (120) JbS&HIX A Mg (121) €X S ¢ (405) MMHSHS ael : mE)
ot E 5] 5] 2 3
o & o = p S
2 [ [Ms s o & | E A o
100 i
INE=RS PN 12,367,434 10,586, 750 1,780,684
120
Jt= &l At 3,388,824 3,763,193 A 374,369
121
EX 35,000 0 35,000
405
AHEHF SHIS 35,000 0 35,000
35,000 0 35,000 |01  Xt&HF SHI
O AU &==22 AMSX 35,000,000& x 14l = 35,000
124
== 3,226,763 3,633,720 A 406,957
401
AN&HIS 3,226,763 3,633,720 A 406,957
3,226,763 3,633,720 A 406,957 |01 Al&EHI
O L&t A 123,780
- =l 668,000,000& = 668,000
- AlHl <A &E>730,720,000& -<J| &>1,522,500,000& = AT791,780
O RgY+E 5 KSR AT AHD=150~400m 50,
<A &E>54,500,000& x 141-<J] E>70,000,000& x 14! = A 15,500
O SHY+Z SEHBIT L 2 DAHSAHE I 10hp 204, bH 2
<& &>35,900,000& x 1A-<J[ E>40,000,000& x 14! = 24,100
O SIASLE AADAIMOIE DUBAH(FA2AHMOE 101,
<& &>22,000,000& x 2H-<J[E>25,000,000& x2&H = 26,000

O AILE &, Bi==Xl CCTV & XIS AH(L==Z200 4.

HH 2= X1 790 A )




[ 46l ® I ]
20 (100) HEHNS & : (120) JbSEHIX & ME : (124) 222 S 1 (401) AIMHIS (el - ma)
o = | 5] =2 3
o & o & z | S
B = o & | = A o
AXSIE 700 NNNK2[AL v 2Ol A1 AS1Q NN NNNKI v 20 A — AN A RNN
O BAEsdY A 119,000
- =l 213,500,000& = 213,500
- AlHI
<& &E>213,500,000& x 141-<J| &E>546,000,000& x 141 = A 332,500
O 2,Hi+2 SSHHZA(SSEHD) ATT,977
- =l 236,500,000& = 236,500
- AlHl <& A>265,923,000& -<J| &>580, 400,000 = AN314,477
O THXS (AL T2 LAY MALHES 56,000
- K54 JIE Y GBI, MALNHEY
<& &>40,000,000& x 1A-<J[ &>96,000,000& x 14 = A 56,000
126
HE2e 87,185 88,123 A 938
405
AHEHF SHIS 87,185 88,123 A 938
87,185 88,123 A938 |01  KAtotHSHI
O zE2NE PY
<A E>22,184,760& x 1A-<J| &>23,123,000& x 14 = A 938
127
3J|7Hl 3 39,876 41,350 A1,474
405
AHAHF SHIS 39,876 41,350 A1,474
39,876 41,350 AT,474 |01 RH&HFE S HI
O SH2s N BEx




[ Mol CHED ]
Bo:(100) HERKSE & 1 (120) JHS &YX Mg : (127) BII7HIE = 1 (405) KA SHIS (Sl HR)
o 2 ol 5] =2 3
o & o & = | ES
IENE 2 o & M| x 3 o
<ZAAE>7.084.000& x 1A -<J[A>8.250.000& x 14l = AN 1.166
O HBAAZHI(UINE)
<ZE>2,092,000& x 14 -<J| &>2,400,000& x 14 = A 308
800
ol g1 bl 8,978,610 6,823,557 | 2,155,053
810
oll Bl Bl 8,978,610 6,823,557 | 2,155,053
811
ol gl gl 8,978,610 6,823,557 | 2,155,053
=0l AF 2t
8,978,610 6,823,557 | 2,155,053 O M0 GIHIH 22l
<A H>8,978,610,000& -<J| &>6,823,557,000& = 2,155,053




